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Directions—(Q. 1-15) Read the
following passage carefully and
answer the questions given below it.
Certain words/phrases have been
printed in bold to help you locate
them while answering some of the
questions.

There was a time in my life when
beauty meant something special to
me. | guess that would have been
when | was about six or seven years
old, just several weeks or may be a
month before the orphanage turned
me into an old man.

| would get up every morning at
the orphanage, make my bed just like
the littie soldier that | had become
and then | would get into one of the
two straight lines and march to
breakfast with the other twenty or
thity boys who also lived in my
dormitory.

After breakfast one Saturday
morning | returned to the dormitory
and saw the house parent chasing
the beautiful monarch butterflies that
lived by the hundreds in the bushes
strewn around the orphanage.

| carefully watched as he caught
these beautiful creatures, one after
the other, and then took them from
the net and then stuck straight pins

through their head and wings, pinning
them onto a heavy cardboard sheet.
How cruel it was to kill something of
such beauty. | had walked many
times out into the bushes, all by
myself, just so the butterflies could
land on my head, face and hands so |
could look at them up close.

When the telephone rang the
house parent laid the large cardboard
paper down on the back cement step
and went inside to answer the phone.
| walked up to the cardboard and
looked at the one butterfly who he
had just pinned to the large paper. It
was still moving about so | reached
down and touched it on the wing
causing one of the pins to fall out. It
started flying around -and around
frying to get away but it was stil
pinned by the one wing with the other
straight pin. Finally its wing broke off
and the butterfly fell to the ground
and just quivered.

| picked up the torn wing and the
butterfly and | spat on its wing and
tried to get it to stick back on so it
could fly away and be free before the
house parent came back. But it would
not stay on him.

The next thing | knew the house
parent came walking back out of the
back door by the garbage room and
started yelling at me. | told him that |
did not do anything but he did not
believe me. He picked up the
cardboard paper and started hitting
me on the top of the head. There
were all kinds of butterfly pieces
going everywhere. He threw the
cardboard down on the ground and
told me to pick it up and put it in the
garbage can inside the back room of
the dormitory and then he left.

| sat there in the dirt, by that big
old tree, for the longest time trying to
fit all the butterfly pieces back together
so | could bury them whole, but it was
100 hard to do. So | prayed for them
and then | put them in an old torn up
shoe box and | buried them in the
bottom of the fort that | had built in
the ground, out by the large bamboos,
near the blackberry bushes.

Every year when the butterflies
would return to the orphanage and try
to land on me | would try and shoo
them away because they did not know
that the orphanage was a bad place
o live and a very bad place to die.
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1. Why had the author walked info

thir bushas many timas 7

(A) So that he could save the
butterfies

(B} S0 that the butterfies could
sit on his head, face and hands
(C) So that he could give the
buttarllies 1o the house parent

D) So that he could kill the
butterfiies.

(E) Mone of thesa

. In the passage whal has the

{C) A nursary

(D) A military school

{E} Mone of these

Which of the following words can
be used to describe the author 7
(A) Crual

(B) Adventurous

{C) Daring

{0} Caring

{E] Mone of these

. Why did the butterfly's wing

break off ¥

(A} Because the house panent
had brolken i

(B) Because the author broke
one wing

(C) Because one of its wings
was still pinnad 1o the cardboard
and it tried 1o fly away

(D) Bacause the butterfty fell on
ther ground

(E) Mane of these

. What did the author do with all

thir butterfly plecas 7

i4) He stuck all the pieces
together

(B} He put them in & shoe box
and buried them in the ground
(C) He gave them away 1o the
house parent

(D) Ha threw them away in the
garbage can.

{(E) Mone of thase

. Which of the following is not true

in the context of the passage 7
(A) The author liked walching
the house parent stick the
buttarflies on the cardboard

10.

(C) The house parent stuck the
butterfies an the cardboard paper
(D) The author tried 1o repair
o Wing 16 the butterfly

(E) Adl the above ar trus

. Whal did the house parent ask

thar author to do 7

(A) To tend to the butterflies
while hi was gone

(B} To feich butterfiies for him
{C) Te Ihrew the cardboard
paper in the garbage can

(D) To stick all the butterflies
back together belore burying
them

(E} None of thase

. Why were butterflly piaces
avarywhan 7 ha

(A) Bocausa tha author realized
that the house parent was not
doing the right thing

(B} Because the house parant
want to attend a phone call

{C) Because the house parent
did not pin the butterfies cormctly
(D) Because the author picked
up tha cardboard paper

(E} Nona of thase

+ Why would the author try 1o shoo

away the butterlies which tried to
land an hém 7

(A) Because he thought that the
butterflies would suffer a vary
bad death if they stayed in the
orphanage

(B) Because the house parent
had warmed him against i

{C) Because the butierflies were
oo many i nuraber

(D) Because the author did not
likog the Buttarfies sitting on him
{E) Mone of thesa

Why was the author trying to fit
all the butterflly pieces back
together 7

(A) Bacause he was lold to do
50 by the house parant

(B) Because he was responsible
for the death of the butierlies
(C) Because the houseé parent
would yall at him otherwise

(D) Bacause he was able io find
all tha pieces

(E) None of these
Directiona—(Q. 11-13) Choose

the word which is most simllar in

(B) The author fell that kiling  meaning to the word printed in bold
butterflies was a cruel thing fo do a8 used in the passage.

11. QUIVERED
(&) Fadnbed (B) Trembled
(C) Waved (D) Flew
(E} Fall

12, LAND
(&) Cemant (B} Grounding
(S} Sit (D) Earh
(E} Wail

13. CAREFULLY
{A) Closety (B) Ardously
(C) Vaguety (D) Strongly
(E) Artificialty

Directions — (0. 14-15) Choose

the word/phrase which is most oppo-
site in meaning to the wordiphrase
printed in bold as used n the

passage.

14

15.

BOTT

(A) Below
() Tam
{E} Top
GET AWAY
(A) Find place (B) Getdown
(C) Losesight (D) Come closer
(E} Gat last

Directions— (0. 16-20) Which of

(B) Height
(D) Length

the phrases (A), (B), (C) and (D) given
below each sentence should replace
the phrase printed in bold in the sen-
tence to make it grammatically corr-
ect 7 H the sentence is correct as it is
given and no commection is required,
mark (E) as the answer.

16.

17.

As she bought quite a number of
books she got a heavy discount.
(A} quite numbars

(B) heavy numbers

{C) some numbors

(D) many numbers

(E) Mo correction requined
After a great deal of efior she
finally managed to success in
et wentura.

(A} managing to succesd

(B) managed to succeed

(C) managing success

(D) manage o success

(E} Mo eadrection required

. She opened the door as she

kngw the person very waell and
had spent quite a few momings
with him.

(A) as she knows

(B) as she was knowing

(C) as she knew

(D) as she knowing

(E) Mo cormacton reguinsd
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19. He is a wery lazy person and

Directions— (3. 26-30) Rearra-

idiomatic amror in it. The emor, i any,

hate doing any kind of work. nge the Tollowing six sentences 1, 2, will be in one part of tha sentence.
(A} habed daing 3, 4, 5 and 6 in the proper sequance  The betiar of that part is the answaer. If
(B) hate does to form a meaningful paragraph; then  there is no error, the answer i (E).
(C) hates do angwer the questions given below  (KgNone Brmors of punctuation, if any.)
(0} hates doing . them. 31, Despite working /very hard he /
(€} No comection required 1. 1 could not even hide myself, A ®

20. Usha could net thinking of whilch would have saved me, falled 1o achieve / the desiting
travelling without her car and 2. Once a monkey escaped ic D)
feared the crowd. fram one of the rooms in the results
(A} could nat think palace and came into my ' Mo errar

[B) cannot thinking
(G} cannot think
(D) could nat thinks

Fsm.
3. This Irightened the animal,
who jumped out of the

E)
32, Saddened by / the sudden

E) Mo comection required o {A) (B)
::B:-cw-t (@ ETq:sn In sach roof and cimedorto the demise af /his favourite pet he
a senlen . (C)
quistion below, a sentence with four 4. Suddenly my sister enterad
words printed in bold type is given, my room and screamed decided | nol o go to the party.
These are lettered as (A), (B), (C) and when she saw the monkey [~ —
(D). One of thase four words printed in scratching me. ®
bold may be either wrongly spett or 5. |was so scared when | saw
inappropriate in the context of the the monkey that | could not  33. A8 she is late [ for work she
santence. Find out the word which is e, A {8}
wrongly spelt or inappropriate, if any. 6 Saeeing that | was scared, the decided /o skip breakiast and /
The letter of that word i your answar, monkey  started scratching (&)
If all the words printed in bold are me. head directly to office.
comectly spell and also approprate I 55 \hich of the following should be (D)
the context of the sentence. mark (E) " 14 THIRD sentence in the rear- No error
L@, “All comect’ as your answer, ™ i€}
2. Ritawas tending 1o har flower (A} 1 B) 2 34. Tha liger was not / the only
(&) @ c) 3 (D) 4 (A)
beds with joy and pride e 5 dangerous animal / in the forest /
© o 27. Which of the following should be (B L]
{E} the FOURTH sentance aler rear- u““ﬁ;}“'ﬂ'“mm
22 As it was the tenth day of the rangament 7
A) (A) 2 B} 3 No error
testival the constables on duty (C) 4 o) s {E}
{B) (C) (E) & 35, She was running / a very high
were tried of patrolling. 28 Which of the following should be ] ]
(o fhe LAST (SIXTH) sentence afer tever / and thus her mather takas /
A ::‘Eu:l ok reamangement 7 e doctor )
23. 1t is better 1o die on your fest a2 @ 3 her 0 -
<) 4 ms o)
(A) il {E} & Mo anor
then live on our knees. [13]
(C) (D) 29. Which of the following should be
M?é}ﬂﬂd the FIRST sentence afler rear- mm?:;“m“m'r“
7
24, He glanced arcund the room NE B 2 hours  together |/ who  really
A (€) 3 (o) 4 B (c)
suspisiously, sure they wene (E) 5 Irritated / his parents a lot,
b Ssmewhars. ©) " 30, whien of the following shouid be © No error
o thi: SECOND sentence after rear- €
'“:,:E:]E :mgz ont ? B 3 37, In my visiting / fo the country /1
25 The most wonderfullest thing 4 5 (A (B)
(A) :E{ 6 © decided to go / on & tour all by
about miracles is that they () (o)
=] Directions (Q. 31-40)—Read ]
sometimes happen. All correct  @ach sentence 1o find out whether Mo arror
(C) [[%)] (E) there is any grammatical error or {E)
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38. Thera is a ray af hopa § &mong
(A}
the masses ! thia year as moana
183 Gk
candidates § arm woll sducabed.
{D)
Mo aror
1E]
39, He wab vy axcited § abaut go bl
) i)
the park  with s wounger
1) ooy
orothar,
Mo amor
1E}
40, Although his speech § was nod
() &)
wary cheary ! evsryona undaers
=
saad J the underiying meaning.
{20
o peror
[{=)]
Directlons—{2. 41-50) W 1ha
following passage lbare ara blanks,
‘ach af which has bean numbanad.
Thesa numbers ane printed baloey The
passzqe and againgl each, fve words
arg suggesied, ans of which fits the
blark appropriabely, Firdd oul the

appropriabe word in each case.
Lasl night | dreamt | wisnt to
Marsderlay. It .. {41)... to mea 1hat |

stood by the bron gate leading b the
dive, bul thora was a padloc snd
chain upon the gals. Then, like s
dreamars, | suddenly atlained supar-
natural powers and passed ... ($2)...
the gale lika & spiril,

Answer: English Language

Ag L {43) ... alang tha twisting
ard Burning drive, | ...{448)... ses that
a changs nad coma about. This was
et the nmat and orderty griva thal wea
had ...{45}... . It was only when |
sl i) my head to aveid the low
swinging branch af a tree that |
realized what had 28T e« Matlure
had Ccome inlo s osm again, The
watds on eithar sige of the dive had
ancroached upon e opan spaca in
hatwaan. Tha branchaes of tha reas
inlesmingiad ...(48)... my head lika
Eha archwway ol a church. The drive
was choted with grass and moss. |
came updsn tha houss all of 8
w48 . As | shood belors i, |

behind my ayas.

41, (A} Aol (B} Seemed
) asam (DY) draard
(E} oocur

42, [A] ©on (B gnrough
{C} {00 lida
{E]  wilh

43 (A) walk (B) siapt
51 wiake (D) foit
(E} advancad

44, (A} shoukd (B} weill
ISy could {2} am
[E] woulkd

45, {A)  know (B} knowing
{C] Emewod D knaceams
(E} Hnew

2, (A} i (B} turn
[C} bant D b=hl
[E] remsonvad

47, {A) oocur {B) rarnspine
{1 Billed (D1 happan
LEl} happernsd

1 A 26 A
2 D 27 E
3 E 28 B
4 C 29 B
5 B 30 D
6 A 31 D
7 C 32 E
8 E 33 A
9 A 34 D
10 E 35 C
11 B 36 C
12 C 37 A
13 B 38 C
14 E 39 B
15 D 40 B
16 E 41 B
17 B 42 B

48, (&)
1G]
{E}
A8 (A)
)
(E}
B, (4
L9 ]
1E)

1o

quicidy

tira
fassd

last
Tanad

1B) abovne
i and

1B} Tasthy
10} sugdan

{B) leso
(D) creabed
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18 C 43 E
19 D 44 C
20 A 45 D
21 E 46 C
22 D 47 E
23 C 48 B
24 B 49 D
25 A 50 A




